3AJIALIA 3A TOMARU
XomoreHe gudepeHIrjaliHe jeHATNHE

1. Pemuty jeqHaunHe:
() zy —y=(r+y)n=
) (y+ ry)dx = xdy,
(3) (y* —22%y)dx + (z* — 2z2y®)dy = 0,
4) xy =y+ 2?2
(5 2yy =22° — P,
6) =y = rer + Y+,
z2
() 2zy = (y’e @ +y*>+22%)y,
®) xy +awtg?—y=0.

Pemema:

(1) ln%ﬂ’ =cx y=0,

() 2?In(cz®) =y =0 y=0,
(3) 2 +y’ = cuy,

(4) arcsin? =sgnzlnfz|+c y=2 y=—ux,
(5 In % = ¢+ Garctg ©XY,
6) er =155,

(7 y=(1+e7),
(8) zsinf =c.

2. PelluTH jeIHAYMHE:

() By—Te+T)de+ (Ty — 3z + 3)dy =0,
2 2r—4y+6)dr+ (rv+y—3)dy=0,
(3) (2y—62)y —y+3c+2=0,

4 (dy—3x+5)y —3y+T7x+2=0.

Pemema

() (y—z+1)(y+z-10°=c
2) (y—22)°=cly—2-2)%,

(3) (by — 152 + 2)* = ¢(2y — ),

4) 4y? — 6xy + 722 — 10y + 42 = c.



